mL—Y—TI/87)—kF 10A7Y—FL—X 20194108198 (1)
Standard class _ - ; /%E %E@
[Etid K£ —J)L No. |IR|IBHEI2RIBHSRIGHRI4ARIBHLERTS
1 [CLAY 151764 1 1] 2 2 1] 1] 1] 1 50Guest
2 |=%y F0RA 199069 DNC 4] 1| 1| 2| 2| 2 2 IBEEF
3__1dkJil 3BaA 184057 DNG 4l 3] 3| 3 3 3| 3 132 EF
EZE /M EaER]ARLE] 40 170 170 170
FHl EE[m/s] 3 4 5
Hx AA—K 5 11:00] 12:52 13:31 14:08
FEE (RiFID1= v 1 ER 11:58]  13:17 13:57|  14:33
&dial class _ _ _ _ _
B 5z K% —J)LNo. |IRIBAI2ZRIBAISRIGA[4RIBAKRESS
EE N 9906 3[ 3 3 3[ 1 1 1] 1 8
2 1= = 181193 1 1] 4 4 3] 3| 3 3 11
3 A #s 161281 2| 2| 5| 5| 4| 4] 4| 4 15
4 |HE BiE 207418 DNC 12| 2| 2| 2f 2| 2 2 18
5 |HH BA 90 al a4l 70 71 71 7|1 5] 5 23
6 [T 75 206767 6] 6/ 9] 9f 5[ 5[ 6] 6 26
7 | RIE #FH 127393 71 7] 8] 8 8 8 8] 8 31
8 |KIR #H 186612 8] 8| 10| 10 6| 6 9] 9 33|Guest
9 i K A= 209502 DNC| 12| 6| 6] 9| 9 7| 7 34
10 |RIF 13 118 5] 51 11| 11| 10] 10] 10| 10 36
11 |BhA =5E 210513 DNCG{ 12| 1| 1[DNC 12|DNC| 12 37
EE [N EEaER|RARE] 40 170 170 170
= E1E[m/s] 3 4 4 5
Hx AA—K ¥l 11:00] 12:52 13:31 14:08
FEE (RFID1= v 1 ER 12:00]  13:18 14:34
4.7 class - - - - —_—
& 152 K£ —J)LNo. [IRIBRI2ZRIGEHSRIBRIAIRBRAKRERS
1 [defm MEF i 1] 1 1] 1] 1] 1] 1 4
2 |#0x0 fEAER 95227 3 3] 2 2 2| 2o 2| 2 9
3 15 BuL 133167 2l 2| 3 3 3 3 3 3 11
e M ZFaR]ARLE] 40 170 170 170
0 ELE[m/s] 3 4 4 5
Hx AA—KEFHE 11:00]  12:52 13:31 14:08
PDE(BEFIT 1= v 1B 12:09 13:21 14:36




